CONGRUENCES FOR TANGENT AND GENOCCHI NUMBERS

MARCELO POLEZZI

Universidade Estadual de Mato Grosso do Sul-(UEMS) Rodovia MS 306, Km 6. Cassilândia, MS, Brazil e-mail: mpolezzi@terra.com.br

Abstract

In this note we provide congruences for the numbers defined to be the "odd part" of the tangent numbers. As a result, we obtain congruences for Genocchi numbers whose indexes are powers of two, and also intriguing congruences for alternating power sums of natural numbers.

1. Introduction

Consider the following power series:

$$G(t) = 2t/(e^t + 1) = t + \sum_{n=1}^{\infty} (t^{2n}/(2n)!)G_{2n};$$

$$A(t) = 1 - \tanh(t) = 2/(e^{2t} + 1) = 1 + \sum_{n=1}^{\infty} (t^{2n-1}/(2n-1)!)A_{2n-1}.$$

Clearly $A_{2n+1}=2^{2n}G_{2n+2}/(n+1)$, where the numbers $G_{2n}, n \ge 1$ are called *Genocchi numbers* (see, e.g., [7]). Now, define the tangent numbers

2000 Mathematics Subject Classification: Primary 11B83; Secondary 11A07.

Keywords and phrases: tangent numbers, Genocchi numbers, congruences.

This paper was partially written while the author was at ICMC-USP supported by a grant (98/13167-9) from FAPESP.

Received September 1, 2005

© 2006 Pushpa Publishing House

 T_{2n-1} , $n \ge 1$ to be the coefficients in the power series

$$tg(t) = \sum_{n=1}^{\infty} (t^{2n-1}/(2n-1)!)T_{2n-1}.$$

Since $tg(x) = -i \tanh(ix)$, we get $T_{2n-1} = (-1)^n A_{2n-1}$, and then

$$T_{2n+1} = (-1)^{n+1} 2^{2n} G_{2n+2} / (n+1), \quad n \ge 0.$$

Proposition 1 [4]. Consider the set of n-tuples $u = (u_1, u_2, ..., u_n) \in \mathbb{N}^n$ such that $u_1 = 1$ and $u_i = u_{i-1}$ or $u_i = u_{i-1} + 1$ for $i \geq 2$. Then, the Genocchi numbers are given by $G_{2n+2} = -\sum (-1)^{u_n} (u_1 u_2 \cdots u_n)^2$.

Remark 1. As a consequence of this result, one concludes that G_{2n+2} is an odd number. In fact, the only odd term in $-\sum (-1)^{u_n}(u_1u_2\cdots u_n)^2$ is $(1\times 1\times \cdots \times 1)$.

Proposition 2 [10]. Let p be an odd prime and let λ be the period-length of the sequence $(T_n \mod p)$, for n odd. Then,

$$\lambda = \begin{cases} p - 1, & \text{if } p = 4k + 1; \\ 2(p - 1), & \text{if } p = 4k + 3, \end{cases}$$

and $T_{n+\lambda} \equiv T_n \pmod{p}$, for all odd numbers $n \ge 1$.

2. Results

Many authors have found interesting congruences for tangent and Genocchi numbers, like Gandhi [5], Carlitz [2], Gessel [6] and Chen [3].

Nevertheless, we shall prove a simple result concerning tangent numbers, which seems to have been so far (at least partially) unnoticed. In fact, items (ii) and (iii) of our theorem have been stated in terms of Bernoulli numbers by Srinivasa Ramanujan (see, e.g., [8]).

Definition. Let $\alpha(n)$ be the exponent of the highest power of two that divides T_{2n+1} , and define $\hat{T}_{2n+1} = T_{2n+1}/2^{\alpha(n)}$.

Theorem. Let $n \in \mathbb{Z}_+$. Then,

- (i) $T_{2n+1}/2^n \equiv 1 \pmod{3}$;
- (ii) $\hat{T}_{4n+1} \equiv 1 \pmod{30}$;
- (iii) $\hat{T}_{8n+3} \equiv 1 \pmod{30}$;
- (iv) $\hat{T}_{4n+3} \equiv 17 \pmod{30}$, if $n \equiv 1 \pmod{4}$.

Moreover, if $n = 2^r(1+2t)-1$, with $r \ge 2$, $t \ge 0$, then

$$(\text{v}) \ \hat{T}_{4n+3} \equiv \begin{cases} 1 \, (\text{mod } 30), & \textit{if} \ r \equiv 0 \, (\text{mod } 4); \\ 17 \, (\text{mod } 30), & \textit{if} \ r \equiv 1 \, (\text{mod } 4); \\ 19 \, (\text{mod } 30), & \textit{if} \ r \equiv 2 \, (\text{mod } 4); \\ 23 \, (\text{mod } 30), & \textit{if} \ r \equiv 3 \, (\text{mod } 4). \end{cases}$$

Proof. (i) It is well known that the numbers T_{2n+1} are divisible by 2^n (see [9] for an elementary proof). By Proposition 2, $T_{n+4} \equiv T_n \pmod{3}$. Thus, since

$$\begin{cases} T_{2n+1} \equiv 1 \pmod{3} \text{ and } 2^n \equiv 1 \pmod{3}, & \text{if } n \text{ is even;} \\ T_{2n+1} \equiv 2 \pmod{3} \text{ and } 2^n \equiv 2 \pmod{3}, & \text{if } n \text{ is odd,} \end{cases}$$

we conclude that

$$T_{2n+1} = 2^n (3s+1).$$

(ii)-(v) By Proposition 2,

$$\begin{cases} T_{n+4} \equiv T_n \pmod{3}; \\ T_{n+4} \equiv T_n \pmod{5}. \end{cases}$$

Furthermore, we also have $T_{n+4} \equiv T_n \pmod{2}$ for $n \geq 3$. Hence,

$$T_{n+4} \equiv T_n \pmod{30}, \quad n \ge 3.$$

Since $T_3=2$, we obtain $T_{4n+3}\equiv 2\ (\mathrm{mod}\ 30)$. Analogously, since $T_5=16$, $T_{4n+1}\equiv 16\ (\mathrm{mod}\ 30)$.

(ii) We have that $T_{4n+1} = 2^{4n} |G_{4n+2}|/(2n+1) = 2^{4n}(2c+1)$ for some $c \in \mathbb{Z}_+$. Since $2^{4n} \equiv 16 \pmod{30}, n \ge 1$, we have $(2c+1) \equiv 1 \pmod{30}$. Thus,

$$T_{4n+1} = 2^{4n}(30s+1).$$

(iii) We have $T_{4n+3} = 2^{4n+1}G_{4(n+1)}/(n+1)$. Then, if n is even, we have $T_{4n+3} = 2^{4n+1}(2c+1)$ for some $c \in \mathbb{Z}_+$. Since $2^{4n+1} \equiv 2 \pmod{30}$, $n \ge 1$, we have $(2c+1) \equiv 1 \pmod{30}$, and so

$$T_{4n+3} = 2^{4n+1}(30s+1)$$
, if n is even.

(iv) Let $n \equiv 1 \pmod{4}$. Then, n+1 = 2(2k+1), and then $T_{4n+3} = 2^{4n}(2c+1)$, for some $c \in \mathbb{Z}_+$. Since $2^{4n} \equiv 16 \pmod{30}$, $n \ge 1$, we have $(2c+1) \equiv 17 \pmod{30}$, and thus

$$T_{4n+3} = 2^{4n}(30s+17)$$
, if $n \equiv 1 \pmod{4}$.

(v) Let $n \equiv 3 \pmod{4}$. Then, we can write $n = 2^r (1 + 2t) - 1$, with $r \ge 2$, $t \ge 0$. Hence, $T_{4n+3} = 2^{4n-r+1} G_{4(n+1)}/(1 + 2t) = 2^{4n-r+1} (2c+1)$, for some $c \in \mathbb{Z}_+$. We have that

$$2^{4n-r+1} \equiv \begin{cases} 2 \pmod{30}, & \text{if } r \equiv 0 \pmod{4}; \\ 16 \pmod{30}, & \text{if } r \equiv 1 \pmod{4}; \\ 8 \pmod{30}, & \text{if } r \equiv 2 \pmod{4}; \\ 4 \pmod{30}, & \text{if } r \equiv 3 \pmod{4}, \end{cases}$$

which implies

$$(2c+1) \equiv \begin{cases} 1 \pmod{30}, & \text{if } r \equiv 0 \pmod{4}; \\ 17 \pmod{30}, & \text{if } r \equiv 1 \pmod{4}; \\ 19 \pmod{30}, & \text{if } r \equiv 2 \pmod{4}; \\ 23 \pmod{30}, & \text{if } r \equiv 3 \pmod{4}. \end{cases}$$

Therefore,

$$T_{4n+3} = \begin{cases} 2^{4n-r+1}(30s+1), & \text{if } r \equiv 0 \pmod{4}; \\ 2^{4n-r+1}(30s+17), & \text{if } r \equiv 1 \pmod{4}; \\ 2^{4n-r+1}(30s+19), & \text{if } r \equiv 2 \pmod{4}; \\ 2^{4n-r+1}(30s+23), & \text{if } r \equiv 3 \pmod{4}. \end{cases}$$

Remark 2. Chen [3] has obtained a variant of item (i) of our theorem. He proved, using a lemma on regular continued fractions, that

$$\frac{T_{2n+1}}{2^n} \equiv 4^{n-1} \; (\bmod \; 6).$$

Corollary 1. Let $r \in \mathbb{Z}_+$. Then,

$$G_{2^{r+2}} \equiv \begin{cases} 1 \ (\text{mod } 30), & \textit{if } \ r \equiv 0 \ (\text{mod } 4); \\ 17 \ (\text{mod } 30), & \textit{if } \ r \equiv 1 \ (\text{mod } 4); \\ 19 \ (\text{mod } 30), & \textit{if } \ r \equiv 2 \ (\text{mod } 4); \\ 23 \ (\text{mod } 30), & \textit{if } \ r \equiv 3 \ (\text{mod } 4). \end{cases}$$

Proof. Since $G_4 = 1$ and $G_8 = 17$, the result holds for r = 0, 1. For $r \ge 2$, apply the identity $2^{4n+1}G_{4(n+1)} = (n+1)T_{4n+3}$ to the expressions for T_{4n+3} when $n = 2^r - 1$, obtained in the proof of the theorem.

Now we provide two intriguing congruences for alternating power sums of natural numbers, as a corollary of item (i) of our theorem and of a result of Arnol'd [1].

Corollary 2. Given $k \in \mathbb{Z}_+$, there exists $u(k) \in \mathbb{Z}_+$ such that $1 + 2^{2k+1} - 3^{2k+1} - 4^{2k+1} + + - \cdots - (4r)^{2k+1} \equiv (-2)^k (3u+1) \pmod{4r+1};$ $-1 + 2^{2k+1} + 3^{2k+1} - 4^{2k+1} - + \cdots + (4r+2)^{2k+1} \equiv (-2)^k (3u+1) \pmod{4r+3},$ for all $r \in \mathbb{N}$.

Proof. Let the numbers f(n) be defined by $\sum_{n=1}^{\infty} f(n)z^n/n! = 1 + \tanh(z)$. Since $tg(x) = -i \tanh(ix)$, we have $f(2m+1) = (-1)^m T_{2m+1}$. The just mentioned result of Arnol'd says that for each odd number p > 1 one has the following:

$$1^{n} + 2^{n} - 3^{n} - 4^{n} + \dots - (p-1)^{n} \equiv f(n) \pmod{p} = 4r + 1;$$

$$1^{n} - 2^{n} - 3^{n} + 4^{n} + \dots - (p-1)^{n} \equiv -f(n) \pmod{p} = 4r + 3.$$

Hence, Corollary 2 readily follows by applying this result to n = 2k + 1 and using item (i) of our theorem.

References

- V. I. Arnol'd, Congruences for Euler, Bernoulli, and Springer numbers of Coxeter groups, Russian Acad. Sci. Izv. Math. 41 (1993), 389-393.
- [2] L. Carlitz, Some unusual congruences for the Bernoulli and Genocchi numbers, Duke Math. J. 35 (1968), 563-566.
- [3] K.-W. Chen, An interesting lemma for regular C-fractions, J. Integer Seq. 6 (2003), Article 03.4.8.
- [4] D. Dumont, Interpretations combinatoires des nombres de Genocchi, Duke Math. J. 41 (1974), 305-318.
- [5] J. M. Gandhi, Congruences for Genocchi numbers, Duke Math. J. 31 (1964), 519-527.
- [6] I. Gessel, Congruences for Bell and tangent numbers, Fibonacci Quart. 19 (1981), 137-144.
- [7] R. L. Graham, D. E. Knuth and O. Patashnik, Concrete Mathematics A Foundation for Computer Science, Addison-Wesley Publishing Company, 1994.
- [8] G. H. Hardy, P. V. Seshu Aiyar and B. M. Wilson, Collected Papers of Srinivasa Ramanujan, Chelsea Pub. Co., 1962.
- [9] F. T. Howard, Applications of a recurrence for the Bernoulli numbers, J. Number Theory 52 (1995), 157-172.
- [10] D. E. Knuth and T. J. Buckholtz, Computation of tangent, Euler, and Bernoulli numbers, Math. Comp. 21 (1967), 663-688.